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QUESTION 1

You have an in-house HTTP application running on port 8443 but you are not seeing HTTP optimization. You checked
and made sure that the HTTP blade is enabled. What is the likely problem? 

A. Primary port needs to be on the LAN side of the Steelhead 

B. There is a separate license key for the HTTP blade 

C. The HTTP blade will only work on port 80 and 8080 and can not be changed 

D. The HTTP blade only supports HTTP 1.1 and the application is using HTTP 1.0 

E. HTTP blade is enabled by default on port 80 and 8080. An in-path rule is necessary for all other ports. 

Correct Answer: E 

 

QUESTION 2

Which of the following points on WCCP v2 are correct? (Select 4) 

A. Intercept on outbound interface only 

B. Multicast support 

C. Able to redirect any TCP/UDP traffic 

D. Uses UDP port 2048 for control messages 

E. Multi-router support 

Correct Answer: BCDE 

 

QUESTION 3

Is any user data sent across the out-of-band (OOB) connection of a Steelhead appliance? 

A. No data is sent across this connection 

B. Yes, only after 60 seconds 

C. Yes, when the peer Steelhead appliance requests information 

D. Yes, when the connection is setup 

E. Yes, every 30 seconds 

F. Yes, every 30 minutes 

Correct Answer: A 
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QUESTION 4

Hybrid Mode can best be defined as a combination of: 

A. Physical in-path and WCCP 

B. Physical/virtual in-path and server-side out-of-path 

C. Physical/virtual in-path and PBR 

D. A and B 

E. A, B, and C 

Correct Answer: B 

 

QUESTION 5

-- Exhibit -- Exhibit -

Refer to the exhibit. In a WCCP environment with R3, SH10 and SH11, it was observed that the returning traffic from
Server2 is not being optimized by the Steelhead appliances. Why? (Select 2) 
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A. The router is not properly configured. 

B. Physical in-path mode should be enabled. 

C. The wccp redirect command is missing. 

D. You should disable logical in-path. 

Correct Answer: AC 
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